?iiiligiiégifiifﬁiiﬁiiié FIRI L T D : 9369f975

ﬁ?ﬂ%ﬁl%‘ él%)]nXu El_
A T 2 AL
TE Xy - TAE - FEY - 45 A AT e (i) | e (A0aD) BB AT e
L (=] Iﬁffu
= 1
IS T
=Y 1
TR T
Y 1
SRR 7A77 VMERZEERR t=15cmPL T
m 16
A EE AR A A7 VMEREERR t=15cmPl T
m2 631
R AT 7 Wk
3 32
LGy 7277V
3 32
NG (e RS e (-30) t=2FF%)
3cm m2 446
L E A RE TR (-30) t=F1)
3cm 2 186
EJE AR EAs (20) W=1. 4mPL 3. 0mEX
T t=b5cm 2 446
EIE] A L As (20) W=3. Omf& t=5cm
m2 186
i T
Y 1
RS P L
= 1
B g B
Y 1
Bk LRk
=Y 1
BRI
= 1
Fom R E CGRE )
= 1
AT
=Y 1
B S PR
= 1
T )5
=9 1
-1~ ik



N TR ERER FIRIEBE T D - 9369£975
ﬁ?ﬂ%ﬁl%‘ él%)]nXu =
A T 2 AL
T S - AL - ] - TR T TG CEREE T
— e PR
= 1
TR
=Y 1
BV "
=N 1
T
EM 1

R



